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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1- The two lawyers - their contract and each opened a separate office.

1) resigned 2) hindered 1) penalized 4) terminated
2-  The police ordered the robbers to --—--—--- their weapons.
1) cease 2) settle 3) surrender 4) collapse
3-  The nation’s economy was largely ———-—- by foreign aid.
1) imported 2) sustained 3) disposed 4) accompanied
4-  Unfortunately the current law —--——— any improvement in the country’s trade with
foreign countries.
1) impedes 2) compels 3) exposes 4) abstains
5-  They are using that hall to hold their party
1) juncture 2) convention 3) intersection 4) circumstance

6- Talking about money now would be a from the main purpose of this meeting.
1) digression 2) detention 3)disputation 4) dispersion

7- There have been calls for the drug’s immediate --——-——, following reports that it has
dangerous side effects.

1) protest 2) discharge 3) disposition 4) suspension
8- I have not read any of the previous chapters of this book, so you will have to give me a
brief ——————-,
1) outlook 2) synopsis 1) panorama 4) prospect
9-  Practical experience is an —--—-—- part of this course.
1) integral 2) adequate 3) accelerated 4) expository
10- Some of these plants are more — - to frost damage than others.

1) inherent 2) forthcoming 3) susceptible 4) instrumental

We have said earlier that climates areé continuously changing. (11) ----v-een- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) ---------- are a result of
mankind's own activities. Secientists have been able to reconstruct accurately the average
temperature of the Earth (13} ---------- years using millions of individual thermometer readings
(14) - world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 0.5°C(1°F ). The warmest years all occurred in the 1980s. Although it
is not yet known for certain, (15) —--—--—-- explanation for this global-scale warming is the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

11-"1) There thought 2) It was thought

3) It has been thought 4) There has been thought
12- 1) wehave seen 2) we saw them 3) that have seen 4) that saw them
13- 1) over 100 last 2) across 100 last 3) over the last 100 4) across the last 100
14- 1) of around 2) from around 3) of around the 4) from around the
15- 1) likely most 2) most likely 3) the most likely 4) likely the most
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| Part C. Reading Comprehension

| Directions: Read the following two passages and choose the best choice (1), (2), (3) or |
| (4). Then mark it on your answer sheet.

PASSAGE 1:

Once the blast have been carried out, it is necessary to analyze the obtained results, as its
interpretation will give the successive modifications of the design parameters for the following
rounds. To achieve a global evaluation, the following aspects must be analyzed; fragmentation
and swelling and also displacement of the muckpile. When photographing or video taping rock
fragmentation, sampling strategies have to be carefully considered, in order to produce an image
that is both capable of being analyzed , and representative of the entire rock assemblage. A
consideration is where the image is to be taken. It could be the top of muckpile, the front edge or
& cross section of the muckpile as it is being mucked. It could be photographed in the back of
haulage truck, the bucket of the loader or on a conveyor belt. Or it could be photographed in 2
stockpile. All strategies are valid but each must be evaluated 1o ensure good picture quality (not
obscured by dust), and representative sampling (not skewed because of some size sorting by
mechanical processes). Another consideration is scale of image. At the very least, the area must
be limited so that the individual blocks can be recognized by the image analysis algorithms. If
zoom-merging techniques (images at different scale) are to be used, an appropriate strategy must
be employed so that the relative number of images at each scales somewhat reflect the different
in scale. Furthermore, when zooming, care must be taken to avoid pointing the camera at zones
of large or small blocks that might attract the eye. A final consideration is the angle of the
surface being photographed with respect to the camera. Ideally the surface should be
perpendicular to the direction the camera is pointed, as that eliminates perspective error.
Perspective emmor can also be reduced by using camera lenses with a long focal lengths were
possible. As an alternative, the image can be rotated to compensate for oblique angles. This
requires to perpendicular scale bars to be appropriately placed in the image.

16- The main idea of this passage is that:

1) Camera specification 2) Photographing
3) Rock blasting 4) Rock sampling
17- According to the text the photo should not be taken from:
1) Conveyor belt 2) Top of muckpile
3) Areas which obscured by dust 4) Back of haulage truck
18- “compensate” means:
1) Consider 2) Recognize 3) Reconfirm 4) Counterbalance

19- According to the passage “perspective error” can be reduced by:
1) zoom-merging techniques
2) Camera lenses with short focal lengths
3} Holding eamera with inclined angle to the surface
4) Tilting the image in order to compensate for oblique angles
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20- “Muckpile” is:
1) spoil area
2)y bench blasting
3) The unwanted material especially rock
4) The broken material that has been placed in a blasted area

PASSAGE 2:

The mining methods which are used in the small scale operation or in limited

scale deposites are substantially different from those used in large scale

operations.

Large scale operations required heavy equipment for drilling , loading ,

crushing and transporting ore.Most small mines are not able to tolerate such

delays and they required high expenditure and therefore use methods with

lower capital costs and shorter development time.

The mining methods for large scale operation are involve a great deal by

money and generally mechanized with less labor forces and are classified in

to longhole open stoping , cut and fill stoping , shrinkage stoping ,

mechanized sub-level stoping , sub level caving and black caving,

The mining methods used in small mines with limited capital resources , high

levels of manning and limited technical support are open stoping , Room and

gli]l?r, square — set stopes , Timbered stopes, Shrinkage stoping and Top
icing.

It is flexible interms of size output levels and degree of mechanization.

Room of pillan method can be used in thin laminar deposite Such as clays

and evaporates.This system of mining in cyclic with drilling blasting and

loading following in sequarce around a number of working places.

Square — set stopes can be used only in weak ore bodies which can obtain

cheap labor and cheap timber.

Top slicing methods are used for thick and flat deposite with weak roof

conditions.

Shrinkage stoping may be used in mines with medium strength country rock

and with ore which will fragment with blasting.

Timbered stopes is simple and well suited to small mines and can be safe and

prodactive if properly designed and managed.In narrow veins stopes can be

supported by using timber posts or stulls which are installed between the

hanging wall and the footwall.
21- The method is being used mostly in large scale mines is:
1) apen stoping 2) Top slicing
3) Room and pillar 4) Mechanized sub-level stoping
22- The best method for weak ore and where the cheap timber can be obtain is:
1) Top slicing 2) cut and fill 3) Square- set stopes  4) Timbered stopes

23- " For weak roof conditions .....
1) Room and pillar is suitable method for thick deposit.
2) Topslicing is suitable method where deposit is hilly and thin.
3) Top slicing is suitable method where deposit is flat and thick.
4) shrinkage stopping is suitable method provided deposits are flat.
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Three mining method used in mines with low capital resources, high levels of maning and
limited technical support are:

1Y square- set stopes- room & pillar- cut and fill

2) Timbered stopes, Top slicing and block caving

3) open stoping-shrinkage stoping and Top slicing

4) Room and pillar- cut and fill-Block caving

According to this passage, the mining method which is suitable for thin laminas days is:

1) cut and fill 2) Room and pillar 3) open stoping 4) shrinkage stoping

| Choose the best choice (1), (2), (3) or (4) then mark it on your answer |

| sheet

The physical basis of the seismic method is that large differences occur in the velocity of
sound waves in .....covevinnnes

1) different types of deposits 2) different geological strata

3) different times in same strata 4) same bed but different localitie’s

The surveys that make the use of variations im the .............[Field caused by the
properties of subsurface ore bodies.

1) electric 2) electronic 3) geophysics 4) magnetic
Preference is given to .............. diamond drills to be used for underground locations.
1) air- operated 2) gasoline- engine 3) diesel- engine 4 hydraulic-feed
In sampling and valuing testing for quality of an ore is called ..............
1) assembling 2) assaying 3) assisted recovery 4) associated sheets
Diamond drilling ................ Compared with rotary drills.
1) is usually slower and more expensive 2) is good for geophysical logging holes
3) does not deliver a core sample hole 4) cheaper and faster for hard rock
leals

sl gl jine Jab as gladaii yo F(X) = 8% aili Smie p il bas alilne ¥
y={(=In&)x+1 v y=(Ina)x +1 1
\ \
}r=_mx+\ (F y:mx+"|ﬂ"'
sl ylier ciibly o X grammas 630 [X] 0T 30 a5 f::e"i‘]dx IR lade -TY
\

T T
=& e
-
e’ +1 e ]
et 1'— e +-—
T t T \

fal yader F() olfT M(x) = I:imxe‘*rdt Sy

— I (v ‘,i.a{"l
e+ (F e=m (7



Download From: MASTERTEST.IR

AMWY s axas pac (&)

Purduzeshpup.comﬂf;_

Y=
T{

X, s vl 00,5 alad (X, ¥, 4Z,) abii 201, X+ Y+ Z =10 amio

™Y
Y (F
=y

Sl yid j_[e‘_*-"'
D

{xy)ixmy>e, x+y<i} o -y

%(c“" Jﬂ %[ﬁ-—t"'] 0
l|ja.:*1‘+=t] (f l{ﬂ—ﬂ"'} oy
¥ Y
S al yaliee 3yl )5 Z = F =xT + YT dolns ap 558 potew | tnd Colas  =TA
VR (Y AT (Y
) SO -9

-&‘{Ifﬂn}W:"}df—{Tﬂ-r}dz JISail lake  -¥1

x+\ y z-Y

B(),7,5) aaii G A(=Y2,Y) ahaii 51

f.hﬁr{_.ﬁT='E- - alalas 4 bas C) fowul juds
(Y SVE
VE(F Y (¥

b (Yxy + Y)AX = —(x" + XY Jomilyivs atolas lgz ¥ =F(x) 51 -F-

Tioamsl yaiz ¥(¥) =1(¥)
\

P -¥ ()
T,{T {

|
Y {r ?{T

PardazeshPub.com




Download From: MASTERTEST.IR

AMWIY+ dsos pac (%)

PardaZesnPul.cont “":

3 o X = =¥ i 4§ 2 F At olgi o I'[I+'I':I-]F'—T{I+T'}j"=—‘ ol 3

1..jn..l.;'- i o phia updaie 5 hza (Y

adaiali o die pdaiali 0 5hca (F

(sl Y waSmn Slae L7y it josie F(F) olf i .ol F(1)
K (X

W

Sl phas ¥ [ ~FF

y=cost (¥

y=tcost (F

9 0l i Slinde o F ol 4 codl glicuns g jlgen
Pl i ﬁrc yax = Srygee ol 33 Al disgey ol JSla s C

-Fa

jladolad oyl afw S ﬁj-M% -
i il s i s A A5
L
-

1—ﬂ ()

v
;{T'

PardazeshPub.com



Download From: MASTERTEST.IR

AANIYs dzos pac ¥)
PardazeshPOl oy~ * 9 W’
bl 5L 2
Tl X|
M=x=y) Sy Ai-x~y)
F(x1¥)={ 0-%00-) ¢ fxly)= w
o blai plo o o
Y-x-y)
—_——2L e<X<i=¥ <y-X
fxIy)=1 0-y) ¢ f(x|y)= 4
R 4 [ blis L. 5
X sl il il g gpufilin sl T (X)) = & oz o X dolai pize  —FA
Sl sha¥ G g il
l:rn'l,u. Y O=Y 4 U=y 0
Al 39y T g U= S5 sgzg T g H=1 (T
Fally (MLE) plaiin s oo 35 35 5 adilpa d 2239 3 gl T Jolad dgnd 5 glaazdly T4
fewd plus @
NI
V(7

P H,_ :0=Y el a aadMe a il (1,

¥
ﬁ}z pAa sy ksl f pon Hit0=1 il

¥
\ ~In¥
A

Y
Nk
hln"l‘ (v

PardazeshPub.com



Download From: MASTERTEST.IR

AAWY: axos pac (A) s  gheal | gug g

593 3 pse WP jlad o ¥ KN (359 g 35 a5 Cusl 1,8
S g pubelf A Slazal 13 i il Fo plafghay aly S5
Tal (RN o5 o 9l iy ol 10 T (25 (g

\ (d

¥ (Y

T

Sl g sladiy ;¥ 1 Suplas A AT Loall  uSe Ailhe
RA::=“RA}-=”‘N ()
RM=°‘RM=MN (v

Rax=6 N<«Ryu,=TAN (r
Rax =8N «Rpy, =00 N (f

“ﬂF_ el (¥ """‘ITI-"I ﬁ'\'ﬁ (0

g=a R = M BN
R R | Bl =

vl s (5 AT b ) B Ballas s gl 5 S
Tl (KN) (i gighed’ iz FG goias 43 930

AR

Vi (Y

Y (¥

YIF (T

-84

-&Y

-&¥



Download From: MASTERTEST.IR

AT dxos pac () il el g 50

Q 3 F, =120 KN cq.4 35 <o B abii ;0 AC il
Q 200KV Joba 30 ales (ul a8l (513 Q (5955 el bl o0
1' T Pag wnlys (KN) o7 ga oLF i wl Sl

— Voo (A
ﬁl I” :I 2“ l Yoo (Y

F=loo kv boo (r
Foo (¥
A SleolF Al 4F J yaeeyd gpduny S 30 0l eala L0 S 5l
fuilaighor BD 5 AD claguice jag 0 aidb ol S 0B g A
ﬁ\ FA.D P . Fgp=P O
P Fap =Fap =P
D P.PIJ Fap P{
Fﬁ]f.'l:?v Fpp =— @

P

B Fap =P, Fgp=— (F

e gl jlaged g3 glaat i 1S plas
Tadd, g0 L mams |y (g 4108 )b Suxd pd

Pl e aals LS 5,108 3L g e pd 5l
Ol JUls Bl i i g3 ol g b

VAs (T Wi

YF (T Ya




Download From: MASTERTEST.IR

ﬁﬁ”“r*lm_rﬂ (A T] u-d-.‘.hﬁ.ﬁui-d oMa e

aigS el Conl Cala sl a0 ~F dlio clnaS iloj 2110 1,5 bl ol auST 53 o i V0 Jobi@AB so¥ed alee
Ksi s vy Sulgd 8 a5 88 4 o] sles'as ol vilia 30 T llao jud Sgud gni 3l dle & S L AT

L T o ‘.___:WJL%; o ctleyd bludl s i g ¥o X0 PST als azdozitl Jyoa) izl
Vo b ()

j Ty

BYd (T

Rk 5# Yio (F

lone (g9908 A5 5Tam 551 ol Fo KNI 0 310 L35 alaie el s 1 s allS (e jylilS ,21as
&y pagile wo s ahis gl sbul Bl 43 5 ek Ga gab ST g Al JSlBe Yo 5

Yo ¢l {cm‘}

. TRE ()
i seta
é Ax\e (T

VoxY¥o (¥

_h:h:.n:uhi&..:mlj: i foee 908 oaildl Boc yo AT e MM dad g VP o mm gl )l e ASS  claileiwl daled
J;dulyd.qinh;‘ﬁx.gﬂﬁl! ¥ =-='I.«Tﬂa § E=¥8 GPa dl.-FTJFJ'.' &l _1.1_,3 Y& MPa In.f-_;L"l-wi_g_;ﬂ-:ﬂL;—i.l'

e mm =
s ()

oo b (Y

» Wi o0 F (Y

oy (F

sl o Canglin ol 438, AT Sy (sl 1 cond Yo MM el dy i o 51 glailgind slaigai
feo(Nam) e g aia T | oty jglild alliVe o MPa
Vee (T oY (r Yeo (Y ¥VF (N

30 gt hid el azd 8 10 8o KN L2108 gapd i p 88 Bulbis Yoo o mm' pdade plas d glades
feol MPa & i 7 a als 33 g0g0e oiF 5 las imen g T07 aygljl clamie g4,

. TV o VY0 ()
[
Da¥ & KV AL TREE
'fﬁ' & Vo {‘f
O — 1P T P OSSR IS T | PPN PO [ RC PYY PR

el AalE L sels (B aubil, mals mals (0 il il S (Y el el aabal (O

=44

-F)

-FF



Download From: MASTERTEST.IR

(AeWhins 5 39ar) ligs o TN Elad 4 glailgnasl &2, o p8 5y
ol ganone nyidie Ko bylesa LA Ui yo 58 Balls Y m

kN
&q51ﬁp}¥Fuﬂ15}H.¢uluﬂﬂﬂ [T=1|“ r]
m

$icanl (KN (5590 ghaS iy 409 RIS 455
Fo ()
bo (Y
Fo (T
he (F

M oy ot &y By = g A olid Cond il ol 1 Ml JS0 Galks oF Lals Jab & gils; oonfe ok
Togdige sl wiar dddgl (ygfm Sl &y Cannad (2l Conmdg 30 w I BAS 2 3)lg (Sg508 058 g0
\

-
= ¥
Q=g \

L B i ; 4

L4

L Y (F

ToaToe Cod 1y pgd (y9ild 51 (et 33 a by Jgipr Walae

15 ool das shazal 3 WSl o o el ()

pabiaS15 b das slazad )5 v STl b o gatls (F

pand il e dad alical o wSBhasl g o palls (Y

2alipSly gl dad g e Sladal 5 1S Blas] o als (F

o e iy e § 9o Ayl 50 ale £ polie wamgl b o] e 0 Bl S5 Ay 10 0ald pdde Cuyer 2 ale

m m
T [g=1n—~) Tl == iz oyl o
g' 5
Joo wmm
-m“ A
YiY
A__. o roe
T (f

fowd THA sz Gl o 0l g9 Jilis J50 0
(2aS 53 po SlAL 45 31)

VO

Y (Y

Y

T(F

el

-#F



Download From: MASTERTEST.IR

AMNIT drss pac (\Y) wrdigs ol g0

T
m -
D e Gl o el oo 1 K T gl Ty s SO B iy e ) e ] o o

lit
g DAl ) Tagr aales - wwld Ol o0 09d ceai FRM ok & alyd s 57 28 ool 0l (gt ajlil

(ot oo il 1) T daal s pi g Glabd pen

feoe (A
Yoo (¥
doo (r
Yhe (¥
by ol (o950
Tages salicul 0¥ g plfoninsl Cur ] 31 lgF o0 45 Consl (Gpeie 5ol 1) 51 IV 1 Sy plas
S g (T S pmalS (¥ Jeigy (¥ ajgllaal (1
Tulo dar dy g Condl Ul (00 9) © glndj90 s 1 Sy phas
ol el o ol g mS agmy Johs 4y el (Y lysS o8 wgm R L 4y el ()
o 3o 43 bl s 28 352 Jobo 4 il S (F T80 (598 Wism by Jodo 4y 1T (F
Faslly o mas 90 gl5bo 13 gla T 51 Sy plas
Oy b 2ilS (F Snilandns (F S jallast (¥ Sl ()
Taddily gn (o 4 Saly 1) 25 GBS 3l 09 )F plal 4y ilaie 3 ) olosads (5lo Jga 5
CaSiO, - KAlSi, 0, — NaAlSi, 0,
Slya o Py oo gil (F Cesigias¥y - epugd - 10
g o el e (F a3 = Sl M I (Y
FCOP [N Y- T ST P P PR [ (Garnets) by, csgec Jaepd

P oY JUyS1iS jetie Yaane A B [SiOf ) O

8P o JUsF1 3 jpie Yyena wielin sipdonST oy 5 51 5 ABrO; (¥

P - Vi il 25 siaSal Al Ly GailEags fva)) (s sig! e03lse « ArBy[SiOgJr

Yo o A o pnSia b ,atlaST o o 09,8 314 AByOe (F

23 saiw jl ag)F plas’ gland cuf 5 Bl I Cuypgilyf « Sy - Cuigiise - jbLe s Jolas

Tadl o

CedSm S o sy - AL (Y eelal = s paiagil 8 o Migr - gl ()

by il S e g S5 oo s (F Sl ol F i g (F
Tl o Sous £ do S SI

S s 9 Sl glafin gl 5T 50 ) Jel ()

et gla g ol cloals gl igf 5o 5l Lale (¥

S Dk 5 oAl slaSal glaal (G755l elo (7

oSSl o oy claSal clacKin (g 5l 28 gla Lot glaasli | 98 50 5] fesl> (F
LA LT IS g P L E-ST TR— o gl il ) F

B0 g, (F Ve gy (7 Bo u Sl (Y Te o3l ()

L.

=¥

~¥&

~¥¥



Download From: MASTERTEST.IR

AMWYs dsos pac (1) wbidicpan s (ol wg 40

rlaesli Slgw; 3 oolal o>ap8 Sliges; igalal Sl o bonding cloaiied 538,518 i F i au i plas 5o

Tl proces

S I8 b S B - ereole (Y P COPRIE TR (L <-4 B SR
30T Sy Jud ¥ - b g, CF Sol S o By - 2 - AT
Paiils g0 geme 52 ) sload 38 15 plaf ool Jla5 G o] Caslied 4 ol ol Flia Fah Llia JS2

il agae ald oluzsl 4 alads & Sl ()

t =g'sinasin(y F£) ol Jos b 4

ozl g spar alaia ohaial g ooa A8l el pelas o5 Sl (Y
t=5s5m7Y g s 8 5 0l amie

Creo b el g ¥ Sl 5 550 alalaslazal &5 2l (T
t=ssin(y—#) Fladaasbay .o oy o

Crmt Prla Cand g as¥ olozal p Spes plais olial o5 Zl> (T
t=s"sin(y+7) ol Jeasig asb &Y s s s

— - "'.|-' - - Yo .-'- ™

il 5 R il T Tl o Ut BRI 4 Jogiyn Jilha 4355
Lome m e e Y bl

i :' " B s c'-"'

-C: ;F A rﬂ o A8 ¢ msogli ()
St N I L - ?;EP Ly il (¥
2o | 2¢4 vb |- e s
'._'_.:: .-r“' te i .': : ._.-: = l;JJLL-A U!ME{T
L B i olEzali il (F
== ® ia a "_‘-

1y ool A5 (glialy 3 S5, £95 3 oISl 31 S tlae 5LisyS S oy 51 (ot 53 HigaSioms JISH
B Fajler oo pasklus
.J..-iﬂ.gua-B Caadle Sy o ol | 25 glhd; g 08 OS5 = ()

A
N/
_.\\A\ Al o A cadle Cy o el 25 gbaly 9 05 S5 > (T
H:

\ A;huaﬂcmﬂp&ﬁ}a&p1ﬁdbﬂljg}ﬂém1ﬂﬁﬁ
8 a2l BEle o 5 ol (25 i 5 0,820, 25 o (F
J..:.LLS pa i § ,Jii ool ld""F ug_-rﬂ 5!....'!?.....- L T._Jl.ﬁ g Syla un"'ﬂ‘ alfizuls a5 Gbid gl yludls
faiyglge o9y | b JIS az Wind e

Sedan il coslen - cumifagilog - coall (Y Caa 185 g0y = Cemag S o Ligy - Sl (Y
Cadafayien o gy = S jdew - Suilea (F (O TN B 1 P TR PSR Py

il el |y Slia® Lls g4i 5 &0 55 plas

5 5 et e S (T el S e (LS (B

(MVT) o i o0 o0° 5 59y 8 w2 L (F (Sedex) ouSam i 53, § e Ll (F

Caigd g JuSld ! b g i Bies o gilS i

gl gt JSAT G (gilaSle glaSim (Foglome (Pl 50 3 OO

sdigdige JoS25 Sk g Skl slaton pleed (Fojles ) (¥

g g LSS (Jbps pge sladdez 3 g oleand (g faulpd Comd (T

Je5is Wil ool Sl o sladylonn i g alglmald g Slowald b afin ot (Sojlys ) (F
iy g

-AN

=AY

-AY

-AF

~-hd



Download From: MASTERTEST.IR

AMWIY . dans pas (¥} (. -

Tadily oo prasus ou 0010 jlos 090 50 hd claay

PardyzeshPub.com _'_'

Lﬂd{f T""‘* { ﬂalé'f

-AY

- Y
s s 41 (53938 Jb e S (0
3335195 (19 o dhewal 40 00iFs 3 b g (Y
200 Ll Jobo & aaiifa i b g i (F
il (A gy 0050 2 L el o o (F
s 5300 @2 plSamg it b sllslf slowl K -AA
510 sl (55
a3 ) ()
gl (Y
Pouay BSiar 3 il Sy Jas i jplite  -40
Fr e S e ol g ()
S e ¥ S Sl D8 Saal (7
plaT 7 gy a2 JIBj ettt 40 Jlan op i Jyens <)
Spelialh (et abadly gasats (Y
ol 25Uy eslipld o gusals (F
ity 25 g oK 28U glboniiflam 3,90 50 ala3f las  -AY
Al b clie ol SladilS 035 ey sl O
Wl poilin 5 Al s 5 gad i claoasSlas ) salicl (Y
igh tension) e8 Las slesaussTar o bl ulaz o ol o5 bl (¥
ddo £48 nsind g LSS g0l gladils ], (] Baas fky 45 (golse (T o (F
l,sj,....;..,_;..l.ﬁ e uu.a,pﬁa,na..ﬂuu,ﬂ;“ﬁﬁﬁﬁ -s'u.",,.-,a -AY

s Tﬁqﬂ Tn-":' 0o
5 e a3 Q gaiiedy slamalil b poges Bigf 90 Al o p3 S syl 5 0 AF
"1Ju=?$Jr=r&Ja=Fng=“ﬂ » SRF =

Tl jaiiy Gob Slasio wlol 2 (Q) S 0297 Canita¥ 3Ll

o ¥ (t o AYA (T o (1

PardazeshPub.com

& V0 {



Download From: MASTERTEST.IR

AMNIY dnesr pac (Y&) [ g
S LS Cunglia 0390 39 15 glaas
plie &5

Partnzesh DI s tiin.

il Zigliza (- g sladai jh‘.‘l‘_jﬁ}\-il-:i-m!hjl!jl gt
izl i bl 3 ol S Cumplin 3t csbadais o tale] ol ) sl 22

Bt PagBle 5t p55kS g (Falag) Ko JlS oDy Cuaglie 353 gn ohs,a B iR L oSl GRS -45
T=Y n T IF yofa 2
Yo (F Tfo (T Yoo [}
By i 1S plas AV
il go Bl |y Fis K Zaaglis iy AL aeas ke du (Y
ag anlas LoVl O g 0 S 82 geames glo Lis 3 (T
Huge Sl ' Jid L (F
TELH‘J‘JJ_F"_H 3 lecfin jﬂ n!,f plad  -AA

Soladd g E (P ool e g Sia s (T
el o O il Jyoa A4

g S g E=10 GPa 5500 13

kN
[~ —1,—1..'E.uu.luu,:.-“-¢-uj,_,ﬂ1:uﬂ

Ov
r&illL_HHH

m
sl oy (P g ol 33 gues
g™ PTG
ybxYeT (¥
T,rﬁx'i-:_T '\
viaxieTT (F

a4 8 MPa ( Faiws) Sow Sy S L0 p Cuaglis  =Ye-
Sl Gl aln Jlama) ailh Y20 5 ol S Szl
W &y (

PardazeshPub.com



